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Th., . E. TH. Th., . AE. T, 9. IR i U,
T, T, &, oM. . . 9. ud oy wEhew) § Siead
(T g7 S Rfvaat W A saficart &t adf & fog

| e Gerarstt s g o, e fee S sd geR @

sife fpareit W amela &
9MT-2 : WEFA W& (General Knowledge and

General Awareness) :=¥39-94 b Ig HIT gt &
IR SR F e F aR B SHH G TSN 9T

gwﬁlsﬂﬁmqﬂﬁ%ﬁaﬁmw&wlwm
S 21 T Twa ST B & SiRe pererr wle
% foru gerar ST @ IRFH Fhed | S & o sredf
F fafe =t T gfee @@ (CAPFs) § &iead &
T T I 2

Tfter yreu—zue foftad wler § wv-w & fwa, s gw
1 e, 39 for iR sis 6 quaEfy e a—

T goat ot | FruifRe | aamatyr
ke 3k
A Jfg T 20 40 60 fime
M ST’ 20 40
YRR TIfoT 20 40
gqE= &= A 20 40
ST
%A 80 160
-1 HH t‘gﬂ% '@' AhHITR (General

Intelligence & Reasoning) :- 39 qeT 1 32T Rt %
Rty & 99zm, 9% faf= o &1 favomor qo
TEEM H 991 dh T ATl A 2| 39 gheq

T § 3UF S ok R § TP ATIA h 3k b
T 81 39 v § U9 v of @ SR Ree oS
el geAel g ufafem gferer @ aur erya §
3T A qz e Ufaeifie T sifes qe ot wfufea
Bl W €1 e, ARG gfer, WA g, e u
fom, g o |

9MT-3 : YRR T (Elementary Mathematics) :-
e U, QUi Herst @ gReed, Rmed qgr fi,
el % e Welw, got fnde ya, e, s
Tefirar, gua agr &, gua ud gff, 2feet 3R A @
TN, A9 (HEE) |

WAT-4 | &= a1 WS (Hindi/ English)-31s8 T8,
o 9=, fay wd 9gF a9, TRl F OEUARE, @R/
dfy, oiER, TAW, R 9 AdiRedl, TS ae
WMed,  smUfdd TSI AT Articles, Prepositions,
Conjunctions, Tenses, Verbs, Synonyms & Antonyms,
Vocabulary, Sentence structure, Proverbs, Phrases,
Questions from a small unseen passage etc.

Candidate's ability to understand basic English/Hindi and
his basic comprehension would be tested.

The questions in all the above components will be of
Matriculation level.
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PRACTICE SET-01

PART-A

GENERAL INTELLIGENCE AND
REASONING

TR, ArT, firdter, fasn iR waumer fenedt
YOI A9 & Uie &l w9 ¢, aeft i
% g @l 3R M@ gt oS §1 firfron, feswm
% o0 dEY T WSS §1 HAuTer AR o | 7
Tt 3T ST § SST 1 ST, HAUT o &Td
TE T W §3T {1 AW & Shd O T W
i AT 2

(a) 3FF (b) faspH

(c) Hadret (d) firdrer
feret Ty e wrar & SHEER &7 21102220
& WU ¥ Feag R Sar & T NIGHT &t
16391022 & &Y | Heshg forar STar 1 3¢t &e
o # RIGHT &t fohd ®9 § geag fwar
ST ?

(a) 191191022
(c) 20391022 (d) 19391022

WIS & T THY H 7S & % X T2 W
TS ! h1ed o dileh &l =T MMehfaat o
WW%IWW%WWQ@?

(b) 201191022

— v [ 1 ¢
BlGELE
AYS :
- 4 mvad
v v VoV
ONLETE (b) 0%0°
o oo o._.0
A A A°4°
1] o
(C) EODE (d) 690&
Eooi Roog

& fafy@ ®we W § 'SWEETS' @i
'"TZKOIN' & &0 ¥ fern sar 1 3¢t e aman
¥ CHOICE = foh &0 ¥ forar smamm

(a) DJUSRZ (b) DKUSRZ

(c) DJURSZ (d) DKURSZ

C 3 B ¥ Ts Wi wiidt, e 39 A 9 wiar
oM C 9 WIfi= &l T 9,360 H Wiiam 39 forsht W
A 3R B T wu9T: 30% 3TR 20% o1 &ney e
feram A 3 w9ft Y foRe Iog WX s 2

(a) 7,800 (b) 8,600

(c) ¥ 8,200 (d) T 6,000

gfe gdur = 9 X @ T E, dr W
I o & TUUT Fleferar T === i

P

10.

11.

12.

13.

TR
QY

far T fawedt ¥ ¥ @® wEm oA
ﬁmﬁi@aq@wﬁmﬁgo)%w
T 31T Fehel! B

11,9,15,41,?
(2) 110 (b) 159 (c) 135  (d) 167
few o forsreul o | S 1GR-WHE T T

W fr=fafaa guft & gymemee g () &
T T 3T Hehall 2

AZK, EVN, IRQ, OLT, ?

(a) GKS (b) TFQ (c) UFW (d) URD
T e %e 9 # NEXT st MODFWYSU
forar wmam €1 St e et § CLOCK &t =1
o s 2

(a) BDKPQPBDJL (b) BDKMNPBDLM
(c) BDKMNPBDJL  (d) BDKMNPBEML
wR AgR-wgE fou o€, e § fi9 =
faf3ya yrr & |ue €, Jefe Ueh 39 rEIa
21 U ST TGN-TUE hT T HITT)

(a) TPWR (b) HDKF

(c) RNUP (d) BXEV

few TTu foraredt o | 3@ WA T TEE i,
St frafaiaa goft & woamees fog (7)) &
T W 3T Hehedl 2

53, 61, 88, 152, 277, ?

(a) 490 (b) 493 (c) 496  (d) 485
AR & 3@ H T TTT , oo &
ST o ik T ° e ® 9 W W
I YUl g1 S
Q-P-M-A-T-QA-TM

(@ AQTPMP (b) ATQPQP

() ATQPMQ (d) ATQPMP

T& T (X) B T IR U & wE § guEmn
T 1 SWent o feafeat (X1 AR X2) § T
?1 Frafefie fereredt o & anTelt Hwrfera feafa
T oI W

6 2 1

a 2|l 3 Y| 3 |S

X X1 X2

@ (b)

© (d)
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14.

15.

16.

17.

18.

19.

3113 2 df¥Ral § TeH-gE W AR Y aﬂ%
%lA Déa;rrnﬁé‘a%aﬁ‘rB

u@ﬁ%narq:ﬁm:ﬁuﬁsﬁﬁﬂaﬁrcwﬁ
T AT T 79T E 3R F We® S wE w as
%lw&G,Faawﬁéa%,a‘rB%vmﬁaﬁw
3T B2
(a) C

©) G d) H
‘g’ S Hee Raeswets’ @ ¥, 9@t dey
Ry T —

(a) S

(b) F

(b) w9

WIATE & (SRl hl o A ST TE T\

(a) N (b)

Vel o SH A W quTaT B, N A A o
3sft yTegenior # AT B

1. Rubric 2. Router 3. Ruthless
4.Routine 5. Ruin

(a) 2,4,1,5,3 (b) 2,1,4,5,3

(c) 2,4,1,3,5 (d) 4,2,1,5,3

feuw ww wmemt f = eaude Ul
Fo § & T TEEH F T T gu R
&L, A & Ig A J0d qeEt § R wedfia
AT 3 3 T Wy s faw T freest § @ wA-
;ﬁrﬁﬁﬂ‘mﬁwmﬁw“ﬁaﬁwﬂaﬂ%
wHAT :

T dee, U R

T Lfaw, aee €

Teft =F, aee £

Torees :

L g ©F, Rfae T8 2

1L &3 U, Bfaa €

(a) et Frshd 1 STER0T el 8 |

(b) sheret forhe 11 SFERoT e 21

(c) 7 @ fsped 13 T & 11 T80T Hall 7

(d) Forespe 1 31T 11 €41 & S1Ee0T & 2|

few T forshedt & | 3W 3TeR{d T TET HIfWT,
it f erreRfer sf@eT o wyAETees g () &
T W 3T el

O
=8 & 5
Alo

|

20.

21.

22.

23.

24.

25.

26.

— —

(@) g o [® ©
=

1 ool

© 5 %) ¥

1 ©___|

39 Taerea @1 oo &, e & 18 et -
dter wE wetw §, W et R o wgee @
HeEmett & ot g
36,74, 55

(a) 80, 105, 85
(c) 50, 44,94

(b) 40, 52, 46
(d) 58, 64, 54
PART-B

GENERAL KNOWLEDGE AND
GENERAL AWARENESS

FEHT I & AeET (PMJIDY) & dgd @ret

gé’m@ﬁ%aﬁﬁsﬁfﬁﬁqmmmw

(a) @mﬂ@mﬁ@(hmﬂé@zmﬁmm
ST 21

(b) 9% ¥ el =Afth & oI T ERT a9
S @1 Giell S 2 |

(c) PMJDY @l & s Uiy W HE A Tl
fierar 21

(d) I TEEREH & I T 10,000 TH H
G (OD) Ffaren Iuer |

AR 3R gued R ffd Temnr @&

e 2

(a) f&= werR (b) 3Thfess wEETR

(c) IS HEHIR (d) 3FeAfEH AR

wef e @ frafefias § 9 form wemmr &

Roa g2

(a) STHfCH HRTETR (b) f&= meErR

(c) Jeifesh HEFR  (d) J¥Md AR

A HHR ISt g 3k fuer @t aig W

ST AT 3feHTE-3g-aIeT At Wehall —— &

Teera 21

(a) 3T (b) faceft

(c) TaferX (d) TGS

IUSITRT HRETT STfafeEm, 2019 & IrgER f=

U ford STHITRT AT STET § 2

(a) TS =R, S Afawhel & Tast § 5l off wrer
st &1 wleard w21

(b) T FARH, ST god § A I FT B

(c) UH =Afth, S ¥4l & &Y F ded Jarsi
4 3Tl & |

(d) TF FAh, ST GfEHT & T A1et 3o B 21

Ot At are o T g | foew ad o

ot ?
(a) 1967 (b) 1980
(c) 1934 (d) 1957
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27.

28.

29.

30.

31.

32.

33.

34.

3s.

frafefan @ @ fore T stige o ueelt IR

w2 Y w Afgermel @ arfterd St g oft 2
(a) Taema Erem (b) TN 3tiEre

(c) BT 31aem TR (d) 3TEEANT 3tided
WSS ford T o WTehes 2id & 2
ORISR (b) T

(c) T (FUfEsh) (d) 3T =R

firdt % word forerelt wea st —— T ST R
(a) % T (b) g e

(c) T 3t (d) SER e

AR T gEdreR iy, fe ufer wige =@
w;&w%ﬁwm% e arde = ®
e e ?

(a) FeH (b) TS
(c) TR (d) A
el o

&, ﬁl‘qﬁﬁmaﬁﬁﬁmﬁaﬁﬁﬁﬁmﬁﬂﬁ

Y feam ST o, e gHT il B W% | U

ST Hehl

(a) (b)@@r

(c) 31E d) e

w;ﬁ'arﬁaa‘éE(RBI)%mﬁﬁw%rﬁﬁ

T q HhIT G HAT FEH TR 2

(a) RBI 39 & el gu1 fer I e 2

(b) RBI SR &l a2 |

(c) RBI S &l & 21

(d)%RBléﬁwr{%%qmﬁzﬁwﬁwm
|

9t ST 3R WaweR STW WAt gRT SRy

feon-frdell & oTgER, WERe W g 9w

HH TG U B & A0 ST Areetie a7 &

vam @ frefafEs § @ @ o o @ oo

AT AR ?

(a) Tt 5 ad & <= & & &18 T 5,000 HUS &
3 1 3itgd arffes faa a9 8 =T

(b) et 5 adf & & T 25,000 HT § A
&1 YA altieh 23R e =T

(c) st 5 auf % <A 3fTd aifiss faaer e 3
15,000 &g § 31f¥es &1 =Ry |

(d) TR & ST I BT AR

frafefiga o @ faa amar rsamue &t 10 a6t

% 8T o T U O 6] | arEl sl @@ 6l

AT wA F AU TEer W ugenm sfawiwtE

YRR 3. Ta.-2 (TX2) YeH e e € 2

(a) FEC T SFTHIRT

(b) T T IRV

(c) =T T THIRTT

(d) Yt e ST aRTy

T foerEeRrl 3 YREH Foar ol 3|
®q U fmam &
(a) R & Wil (b) 35X & AR

(c) TR & BT

(d) 38R & oTarR

36.

37.

38.

39.

40.

41.

42.

43.

44.

‘frar v T fee o, st w=iw @@t
nﬁﬁﬁﬁﬁwﬁamwfﬁmwﬁi@ﬁ
e ehT &2
(a) T ARYT T (b) aTet TR feeteh
(c) e = (d) g9 =5 I
fordt 3@ @1 SHa F@gAiR & & fwRdr off
A Wi W aieds 39 A 8 ST S
(a) feraor (b) Fereiiaor
(c) HeeA (d) ARt
ferm dvlam etfufrem & SR, a2, Afeat
AT IR WAt Wl uTiaries WUt § se)
T war fawar T 82
(a) f&g STufer stfafm 1950
(b) fég dumem sifafaam 1950
(c) &g suuferer Heiem sff=m 2005
(d) g srff=m 1956
frrafafga & @ @ ot Rafa =m= swmr &
JHAT UEAT Hehelt §7
(a) 35°§ =Afess qrode
(b) BRER Fefi & = JooT
(c) 150-300 cm & = @i
(d) T 3R 3T Sy
e fiedt # fa o @ form erfamaee &t
et Breft €7
(a) fofersm (b) 2zefEm
(c) TegHifa (d) @rer

PART-C

ELEMENTARY MATHEMATICS

WEH A 30 km/h Tt = € 2 &S | HB g a9
HIAT &, Tk 3T gk B 35 km/h Tt o1 &
gk A & A T 99w §) AEH A FRT
forg T wwe @ WEe B gRT fow @ wwa @

SrquTa feReT 87
(@ 7:6 (b) 8:5
() 6:7 (d 5:6

T TEHMER 10% 3R k% Y SHATTT B 4 2
TMesk @t 1,200 3ifeha Toar arer | 7864 W
ToreraT & 1 k &1 |9 A1 R

(a) 25 (b) 15

(c) 20 (d) 80

< Hee, et g @ wmaen: 20% 3% 50%
atferes € | ugelt S WEnedl @ argure feRae
g ?

(a) 2:3 (b) 4:5

() 1:1 (d 5:6

FEelt GO HHET 1 HRIER HET & | 389
10,000 ¥ YT T SHiSyR ST | 369 39
@ % fau 2500 uReeT W @d fwan eiv
THH T W 22,000 T ek 39 T15,000 T
ot TeaT | SEeRT 19 AT BT Wlerore feherr 372
(a) 18% od (b) 18% =1

(c) 20% g (d) 20% @19
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45.

46.

47.

48.

49.

50.

51.

52.

o Ueh WY SRR Sk W 154 1 oA Tehrern
AT &, °F SHeRT & 10 em = R Srew 31 %

T S (cm ®) TeRamT 872

(= 2 ehfer)

(a) 220 (b) 140
(c) 70 (d) 100

= e Tk |y gaE o @ W e §
3ok T oI T ShaHl skt WY THUIT: 70 cm, 75
cm 3T 80 cm §1 UAF gWT feRaft = o
T i W enfew, few @ wedft et gl
Hedl B a9 T Teh ?

(a) 8400 cm (b) 6400 cm

(c) 8000 cm (d) 8800 cm

Teh | § 20 DT T FEA TR 54 ke ¥ Al
52 kg frEa 9 Y 12 BT WU ¥ Il B
T € 3R 56 kg UT TR A1 7 BT TG A
frehet ST €, O 319 WHE § 9N BT w1 SfEd

O (kg W ) Tema=m grm ?
(a) 51.96 (b) 54.24
(c) 53.84 (d) 52.48

T g | U TGN @l Hel a9 arel o
75% AE U §U | A A Al ok 20% aret
I 7Y T @y foa e T et aret @
HEAT 560000 ¥, A7 39 ISEfiCOR & Uy W U

LT AT B A HEAT [ FHIT |
(a) 336000 (b) 346000
(c) 363000 (d) 330000

T Tt 3R U &1 He /T o 2,170 71 T
gt @ 20% H AT W oear § AR UE I
25% o TN U ool § Al SHeAT AT 19
3265 &, A TS T KA T AT W |

(a) T620 (b) 550

(c) T450 (d) T480

Teh AT G a0 okt faradia foom ® 34 km 9
T o aTel §U, 39 4T @t {9 # 40 km
T H o ae "6 H 25% s §) At
&I @t T 4 km/h &, @ 91d 9T | A6 Al
=T (km/h ® ) =T B4t 2

(a) 24 (b) 22

(c) 20 (d) 21

T A 3R B ® 31T 31 urht ot forsror & | umsr
A 37T 3T Ut T STguTd 7: 5 R U BH
g 11: 138 | U A § 9 et faeee st ursr
B % 5 ciieY faea o firerman o & | 37 frgmor

T 3T 3T Ut ST IFUT feRer=T grm?
(a) 37:35 (b) 22:21
(c) 21:22 (d) 35:37

2-{1+1+1+[%-%memgﬁ1ﬂ?

53.

54.

55.

56.

57.

58.

59.

60.

1 11

(a) o (b) o
7 17
(c) o (d) o

Th S @l ok USRI &5hel 96 cm’ 3R
THERT AT 672 cm’ & | THERT ST AT EATT?
(a) 28 cm (b) 26 cm

(c) 24 cm (d) 32cm

Hferaat @ Tk wug fordt @t @ uw ffe
U W Y Y TeRdT § A IW TG A 4 Al
ek B, A S 39 e @ g o ° 2 fom
wH T | Al 3H 9UE | 6 A &AW e, ar
3% 39 HE w YU wH | 4 T e o
YR H, AUg | AR ol &I AT ST |

(a) 36 (b) 45

(c) 40 (d) 32

8 U R 14 Ufwel w1 g, 12 UF AR 5
UReelt o Tod o SeR 7 | T U9 o e 3

Teh UfHeT o oo o ST o &7
(a) 8:5 (b) 9:5
(c) 9:4 d 7:5
IfE 3 of 5+2+L12=12%g‘r, & x &
1+2+ o
= feha=T BT ? I
25 15
(a) ') (b) 1
34 35
(¢ PRy (d) e

X i 3T, Y i 3T A 20% w7 § 37 Z i
3, X 3R Y &t €IS 3 W 35% FA B Z
@t 3, X T 3T A fehar wferora 3tferes &2
(a) 31.6% (b) 45.5%

(c) 38.8% (d) 46.25%

28,000 I LT & ferw, anffer M w
wIehgleg B dTelt 15% aTftieh eIehgfeg SIS o¥
W 2 T 3T 4 WIE T =Aehgieg saT (CI) TeRamT
grm?

(a) 3,109 (b) 12,008

(c) 1,264 (d) 11,109

T U@ T Gt 9o 34,500 € 317 39 15%
e W AT W ¥ Al gt oo W e gEd
FieeTe P2 S o =g gHeT ifam ok qea
73,213 %, O g g o1 wfewTa feham &2

(a) 18% (b) 15%

() 12% (d) 16%

ek T wIshgieg ST WT 6 98 W 212,600 24X 9
T8 7 221,000 F WA ¥ | FraRm At %
(a) T4,436 (b) 4,500

(c) T4,600 (d) 34,536
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

PART-D
HINDI
U T areRr ST A 9T AT R RTEE i At
¥ afy g gfe T& ), o ' gfe = R
ﬁ%r%ﬁwwﬁ(l)/qqﬁ(z)/w%(s)/aﬁ?g%
TE 2 (4)

(a) 4 (b) 2 (c) 1 (d 3
feu g o o feRm amT ° gt #?

TR o AT I HeAdTel L g |
(a) 3R & (b) & B3I

(c) et (d) 959 B
e T v1sg & T =61 == w1

Bt

(a) =9 (b) fesa
OREL TS (d) 3/«

few Tu s W @it WE @t Aiaweniud e
& fou waifie Suged faemed &1 o9 &Y |
TfE T TIICTia i T STavaehar T8t ¢, ar
Tarereq feret srgetTar @t MavTeRar A& &' T
el

AT AT W FARE Q9TETiat § STuAT Wt
TN Y e |

(a) 319 07 TR & &Y |

(b) 3T HToT =T fear |

(c) fordft sreetra i sTavEHd & |

(d) 3791 SToT =T fe

‘8 AT STavEs B el o fT UeR
ITeg ERTI-

(@) 3R/ (b) 3T ()T (d) W
e = areRIeT o o wek vreg i -

I 2R T W AT

(a) BT (b) ST

(c) gt (d) st
Freferfiaa # & grg et 91sg @i & 82
(a) ft (b) Fda (c) 7 (d) fea

Trrfafaa wo= ¥, fou o = faskedt & & 39
?wwwﬁ,ﬁgmﬁ% aref Y gte
|

IS Ui AT

(a) or€wd & T (b) FRIE die

(c) =it TgE (d) forodfia faem & e
U T vrsg o farete Iteg T = Wi -

et

(a) TR (b) Fop

(c) 3gfA (d) =AfErd

fow T A w6 @ W AT R W
T afg &g Ffe T &, O wE e TG E I
T M (1) / W Fama-wm=a o (2)/2nh 3)/
=g qfe T T 4)
(a) 2

(c) 4

(b) 3
(@) 1

71.

73.

74.

75.

TENIT

76.

77.

78.

79.

80.

‘AR e’ TeTer At we 3ref 2-

(a) A AT (b) FAIERT BT
(c) ST & (d) T g
T & ARt & forg we vreg i
foraant ®ig SuaT T &

(a) 3T (b) ST

(c) HETA (d) s
‘Trg’ ferEeRt THiTaT=l §7?

(a) T (b) sreet

(c) R (d) TS
Frferfiaa # | gg od=t aren rsg i |1 87
(a) 3reirguft (b) avefeoft

(c) arilfgoft (d) swieult
HIT-HT 916 ‘SGel’ ot FATHT 9Teg 872
(a) (b) 3193

(c) iffe (d) 3t

feu 1T e ¥ W &9 veg ger fey e € | fu
T foreRedt @t WEEET ¥ Red e W | y&w
T o fau waifien Sugen faseT w1 waa
I

Ry Aot er T S emea (1) & &9
" Y@ wed €, O S U wEr ()
FTATEUT YS= hAT g, e frerter wifeq @
e (3) _ Tawm@ & @k | Wes, N4,
TIge T (4) _ ararenur ¥ € Ry W
A (5) gl ® wendt & 1 By &
TEYT o MR U 37X AT -

T & Ra T (1) & fog waities suge
ITeg BT -

(a) e (b) =R

(c) 75 (d) ERIET

T & e e (2) & foe waifie suge
ITeg I -

(a) fim (b) gfaad

(c) §X (d) st

T & e T (3) & fog waifie suge
I1&g FOT -

(a) TETET (b) 3=

(c) forerw CEE

T & Re W (4) & fog waifie suge
IT&g FOW -

(a) STV (b) gL

(c) THEIE (d) WrewE

eI o Rea e (5) & e waitas suge
ITeg B -
(a) TEHTE
(c) fomm

(b) FHH
(d) Hferdcd
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

PART-D
ENGLISH

Select the most appropriate synonym of the
given word.

Rapid

(a) Straight (b) Successive

(c) Lumbering (d) Quick

Select the most appropriate ANTONYM of the
given word.

Contextual

(a) Unrelated (b) Circumstantial

(c) Provisional (d) Dependent

Select the most appropriate option to fill in the
blank.

Customs and traditions play a

all the societies.

(a) sufficient (b) significant
(c) inspiring (d) refreshing
Select the option that can be used as a one-
word substitute for the given group of words.
Land beside a sea

(a) Peninsula (b) Coast

(c) Island (d) Archipelago

Select the most appropriate meaning of the
given idiom.

To lag behind.

(a) To imitate someone closely

(b) To follow someone as a spy

(c) To fail to maintain the pace or progress

(d) To chase someone for long

Select the most appropriate meaning of the
given idiom.

Lap up

(a) Accept eagerly (b) Move up very fast
(c) Eat something slowly (d) Go around a circle
The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

Jack asked his/friends to send the parcel/on his
/ new address.

(a) Jack asked his

(b) friends to send the parcel

(c) on his

(d) new address

Select the option that can be used as a one-
word substitute for the given group of words.
Well-known for bad qualities or deeds

(a) Notorious (b) Burglar

(¢) Thief (d) Idiot

Select the most appropriate option that can
substitute the underlined segment in the given
sentence. If there is no need to substitute it,
select ‘No substitution required’.

We will be in touch with them when the time is
arrived.

(a) was arrived (b) Arrives

(c) Arrived (d) No substitution required
Select the most appropriate option to fill in the
blank.

The paintings on the church altar seem to be in
need of

(a) redecoration
(¢) reconstruction

role in

(b) renovation
(d) restoration

71.

72.

73.

74.

75.

Select the most appropriate synonym of the
given word.

Fare

(a) Bright (b) Beautiful

(c) Progress (d) Fresh

Select the option that can be used as a one-
word substitute for the given group of words.
Things which are of the same kind and of the
same dimensions

(a) Pleasant (b) Balanced

(c) Homogeneous (d) Harmonious

Select the option that will improve the
underlined part of the sentence. In case no
improvement  is needed,  select 'No
improvement required'.

You may either wait at the reception or come
back later.

(a) even wait

(b) neither wait

(c) either waiting

(d) No improvement required

Select the most appropriate option to fill in the
blank.

My brother wants to
medicine.

(a) chase (b) aim (c) aspire (d) pursue
Select the most appropriate ANTONYM of the
given word.
Rash

(a) Careful
(c) Wayward

a career in

(b) Unruly
(d) Defiant

Comprehension:

76.

77.

78.

79.

80.

In the following passage, some words have been

deleted. Read the passage carefully and select

the most appropriate option to fill in each

blank.

There was a time when storybooks were the

only (1) of entertainment for children.

A decade or two ago, kids (2) their time

reading stories and role playing (3)

favourite characters from the stories. (4)
, times have changed now — in the age of

the internet, kids spend (5) of their time

playing games on smartphones or watching

cartoons or videos on YouTube.

Select the most appropriate option to fill in

blank number 1.

(a) means (b) mean

(c) meant (d) meaning

Select the most appropriate option to fill in

blank number 2.

(a) spend (b) spent

(c) have spent (d) are spending

Select the most appropriate option to fill in

blank number 3.

(a) his (b) its (c) her (d) their

Select the most appropriate option to fill in

blank number 4.

(a) Though (b) In spite

(c) However (d) While

Select the most appropriate option to fill in

blank number 5.

(a) many

(c) most

(b) maximum
(d) masses
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SOLUTION : PRACTICE SET-01

ANSWER KEY
PART-A
GENERAL INTELLIGENCE AND REASONING
1. (a) 3. (c) 5. (a) 7. (b) 9. (c) 11.(b) | 13.(b) | 15.(a) 17. (a) 19. (c)
2. (c) 4. (b) 6. (b) 8. (c) 10. (d) 12.(d) | 14.(c) 16.(d) | 18.(c) | 20.(b)
PART-B
GENERAL KNOWLEDGE AND GENERAL AWARENESS
21.(c) | 23.(c) 25.(a) | 27.(c) |29.(c) |[31.(d) [33.(d) |35(@) |37.(d) |39.()
22.(d) | 24.(a) |26.(b) |28.(b) [30.(b) |32.(d) |34.(d) |36.(b) |38.(c) |40.(a)
PART-C
ELEMENTARY MATHEMATICS
41.(a) | 43.(b) |45.(b) |47.(d) |49.(b) | 51.(a) 53.(a) | 55.(c) |57.(d) |359.(d)
42.(c) |44.(d) |46.(a) |48.(a) |50.(d) |52.(c) |54.(a) |56.(d) |58.(a) |60.(d)
PART-D
HINDI
61.(c) |63.(b) |65(d) |67.(b) [69.(d) |71.c) |73.(c) |75.() |77.(d) |79.(d)
62.(d) |64.(a) |66.(b) |68.(b) |70.(a) |72.(a) |74.(c) |76.(a) |78.(a) |80.(a)
PART -D
ENGLISH
61.(d) |63.(b) |65() |67.(c) [69.(b) |7l.(c) |73.(d) |75(@) |77.(b) |79.(c)
62.(a) | 64.(b) |66.(a) |68.(a) |[70.(d) |72.(c) |74.(d) |76.(a) |78.(d) | 80.(c)
SOLUTION
PART-A 3.(c)
1((;$NERAL INTELLIGENCE AND REASONING | 75 € m(j gﬁm ﬁ%?ﬁ lm e T ST
qoft =afeal & o @1 HE e 8- yoof
T o ]
A°°4
Eine firfrm 4. (b)
59 TR, 3 THR,
fsm ATFTH S——T Cc 5 B
I WE ? & F T TR WH W BT FaT 2 W57 H—2 5 |K
2.(0) E—* 5K 0—*5|U
ISERE qqn E— 50 [ g
S H E E R N1 GH T 415 C—5 IR
LLrll bbb o ey
20010 2 2 20 16 3 9 10 22 5. S——N —
. (a
“ﬁ”fgfj%jff“ A A3 T 2 x 8 i
TEAER,
Jé0¢3 t lt 221 xxﬂxg—9360
100 100
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%9 e (x) = T 6000

A o geg = 6000x%

=% 7800

SR I ST A
o & T S <dor wfafer fawed (b) g
7. (b)
& T Hen Saer e e
19 15 41 (139]

F 3
><I-2T><2-31><3-4T><4-5

Ad: ?2=159
8. (¢)
SRt forge &-

+4 +4 +6 +6

6. (b)

3T 2 = UFW,

9. (c)

59 9R,
M N 5 O
D = E A F
W« X =5 Y
S = T 15 U

34 TR,
B «-— C —» D
K «— L —5 M
N «—— 0 —— P
B «— C —» D
J «— K —5 L

3d: [CLOCK — BDKMNPBDIJL

10. (d) .
fopedt &t ST S W-
(a) 3 (b)
I P W R (8mm H D K F (EH®)
+3 [+ %
(c) ) (d) 2 )
[T~ ¥ (um) —
R N U P B: X' E W
31d: W¥ 8§ BXEV 3 2
11. (b)
& T He e e 8-
53 61 88 152 2717
I}'T i3 T +4 T +5 I mT
o

12.(d

Q(A;IM/QABTM/QAETM

o b @H & ATQPMP A W et guf &t
13. (b)

2 Tdg A fafr -

34'@%)( 3ﬁ?x1 ﬁ,

64>51

mxl?:ﬁixzﬁ,

2————5

A G SATHA —

S

14. (¢)

o] [——I—I——Iﬂ : e

Al F o D Tl
3 'B' & WA 'G' 93T 21
15. (a)
o veR ‘faesRdle’, T Fereg # feod 81 3y
SO, “wfvrEr AR § fed 2
16. (d)
a7eT: fosheq STt (d) # & T e wiefed 8|

17. (a)
TIedl 1 TS VB F HH H forae W
2. Router, 4. Routine, 1. Rubric, 5. Ruin, 3. Ruthless
T T HA=2,4,1,5,3
18. (¢)
TYAER 39 3G T W

S

T T € 7 A1 e 1 SR T & 11 SR e g
19. (¢)
TeEES o % W W e e (c) et

Q
20. (b)
59 TR,
36+74 110
2 2
3 R fase (b) 9-
40452 92
2 2

55

46
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PART-B
GENERAL KNOWLEDGE AND GENERAL
AWARENESS
21. (c)
TEFEA §9 g9 AT A OSSO 15 3T, 2014 H H
T A1 TS IR YERMW 28 ST 2014 FH EE
39 AN F e R fEwEd g W ferfa e
AR Fareit # wgw ghied w0 gu i gEewE @
foaR &G 21 39 FoAT % ded @ERE H & e
€ WeH A ST 81 IF WEERE & faw T 10,000
% I Mg (OD) e Uiy § a9r 1 TR W
SIS 9T el 8 |
22. (d)
FeAlfeh TR favd & 3O ol g1 TR 2
I @ TR I Iediied HEENR qer el
A HEEIR # i & 81 98 S § i
TEETR, IfRI0-uyed # e WeMrR, sRi-gd # =
TR 3R s # Rl weMrR ¥ ST ogem 2
THER IR d91 qUeT YR 3feelifed FeMrR & e
g1 TSER W F18T & SA-qd § Fcie R FeT &
e fgd 21 qued grR feTeet Soeaeqsd & 3N
TS TRHIR § ST 537 2|
23.(c)
oSt Rt T foy T qEU GIY TRU He-9rE W S
f et meErR § fom 21 guel sifman TeUE
8,648 m 21 oY TEU WEErHE T ARFE @, S
T TR # e @ fgeh ifeban TeE 11034 m
21
24. (a)
sfome-sa-dran (st femg ) &1 weew e O
TRl % N R § FHamE T A1 deEed d gHe
U o FHRUT STH AT H qdadt AT AT S
anr o @l S R, HEi qg qeHed b T B
HEhUoT S T fam 2
25. (a)
SRR GOl SARifEE, 2019 % SER, SYARH 98 @
S U Sfawa & was # Rt off wra a1 ansdi &t smufid
A 2| A § b SUARH ST tRifEm, 2019 &
SYIET GeETT SYRfET 1986 % M W AT T4 21
26. (b)
FiAA § dic fed qo gue o Uy faerened §
s & 7mel § I # G 9 Tomias qet
g Sar ot @1 wefte gew @ g # gy @
FiAA § 7 favg & e It Torifas aRf 21 9
ST ot Trar 1980 H 8% M
27. (¢)
T s7aq ST=ieH W et & Ay § 78 saredt
F T G T UL a% 12 7 G 6 WA 1930 T
TS FEA H ASA o Y AW A 3H RO |

Tl aR ARerRi 4 g er<ied d 98 9HH W
el 1 S ST % R TSI ATE 9
foehe SRR AT T W 3TiRIe &1 g o) afea
A A=A % N TSR a9 fHer (i) F
TIHIRAT & HTEAq § TR 1 TUEIEe R H
95 TeYfT e § Weg @i

28. (b)

TR SIS §RT e atel U 7| 98 I wisHead
A WIS & HRUT Bl §; SHH aEd  HEl
TAThelST A=t 2| Ufeer, STsied g1 U, el 31NN
qYT g TSl g1 @ aren I 8, diferar I Ay
% BT SElH e (TUEH) AEHEH RN SERFATTT)
T T SN (TEHES-HeAH TEH) dRIRA § e
et U7 & |

29. (¢)

g & wag =l T i qd 9o Ager U (R-
TER) @l S @ S f% HSR 9 9 a4 8l 81 FW
g e @ R gl # 6 TWd/de-0,A.E,B,C,R #
foraiS fopem T 81 geft & ym W () SHER &
YERYT F el WA YA FEATd &1 g iy Feem
T W @i iR S9 gRd qr 9ft W uw S ard
@l & @ 81 g %, ed, weEb e,
G, 9E1 99 9T & FN% SH% WA (Parent
Rock)%ﬁﬁ%l

30. (b)

ey U5 & deeR § sraftgd off gedeR d@fe &
TS2aR Hgd & A9 T ff T T 21 ogq AR B
fmtor =T o TSI SO g 1003 . ¥ 1010 €. %
e KA AT A1 TS HiveT IAEE gl § fafdd @ aen
5% foreR W @l e Rem §1 77 wfw g9 & fag
e Tl H Qe 7

31. (d)

T % FoH S H O % qvE e’ T P 9 @
Hg w1 1526 § @2 T 79 S § A F FH I g4
& TESE A I IE WG F HRUT I WS
FH H O%a WO gE § I8 T TE sRar
A I WA IR A T gE AT § g &
&1 fafte goal & - ard, QiR ok wey § fawfm &
feam STr o Afeh g9 T & TE F N ST G|

32.(d)

RBI (Reserve Bank of India) Yd HIHT & o6 21 T
29 % fael g51 YUeR #1 G @ R % R %
fw e ale dOR & &1 FE fod q9eE & oTffe
1 9N 1 S T AT B |

33.(d)

gRa H Rea fredt g som/e & faw Fate &
TS 9T BT HeRe Sl &Sl W w & A gd eavas
36 21 THh Ah HWA 1 3HEa aiftier saaEr e
@ auf & safyr § 25,000 HUS ®IC G AfE B
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TRTI A H FA 11 TR B E1 TR AT
FIRYHA HEReT HHAfat 5t 4oft § w99 e areh <97 i
119 ToF Wi Al 395 2

34. (d)

FT-NGY & Grefiofid @R R9d 3 W) & (2014-18) #
T A HE AT B & AU T X 2 3 S 2
dicfiefid SR Rerd & Fo-Te wRA 3R g2 # G W
fod oo aRvel AW Hewr & 7 o 39 faem # e
T o T ST SchEdr (R W o, R e
2010 § 379 T a8l T H IeaEHg IfE TS
2129 AR & 7A@ TR S AT S 2|

35.(c)

FRE sfREERl F qfem geari & auie $ET & s
% w7 # 5 81 wRE sfemen giem gear & R
1 ufafera AT 9 T 3% IV G WS g daad o
T 91

36. (b)

Tfiar T g o TR fiess g wEl e |
1915 H 9t & wigdt S # foret W @ TR
foors 3 39 s # ‘dimgwmag fiar & FHam At ge=
R 1 81 3 TY F s T A F 39 GOR A
e HheAl 1 Y HUAT 81 A e Tanes’ &
T & TN I AT HEr Fad o

37.(d)

5t 59 1 3TF FUEH & FA B oFff qUEE W A
# uRads &1 adieor & 99 ¥ S S @1 arsdsRion
F fou 59 & Foll I STEvEHaT Ted 2|

38. (c)

feg Suufeer demem afafam - 2005 & Sidla o2,
St 3R St ARl & qRaRe it # sweR e
TN P WEHE fRAT T §) 39 ded dfedl # T8
AR fean T 5 9% P g &1 sear FHar gehd 2|
Ty & qere # Rafd § a8 W F W e a2 & gue
SR H &S I T @ T &

39. (a)

T S F AT 350 ¢ ¥ s amEH @R 2
T & fAw 24°C - 30°C TUHA & 1509, — 250 TH.
affes T AR NE ToEg T NfNE T ¥ IERK &7
aut &Y eTEvadar et 1 = A g b den 21 R
H g JUUT IS 7 IR A AT F IR IUT W
&t # fpar S 21 9™ % qed Ices edl # ergm,
ufew s, dfterrg AR TeEl @ e T f
40. (a)

Az et # fafera siferse ot g @)1 e
e @ faer 3= agHE ud s et arer &et # ar
21 afess vl & HROT S F W G IR Rl B
feier & ST 8 T @ % effese SR UegHfed &
i 9 79 @ | g et F A &1 e

SiaEe & PO BT 81 A M gET w9 § ufand e
% wddl & fiflug &, #aics, wenne, sifewn % wi
& Fo1 Hrerd & YeR # Ul W g1 3@ g # S
werd, RIS, Bk I Hfevram & el 21 3
TSl F W R HH F IR F U T 3TRT A4
ST 2|

PART-C
ELEMENTARY MATHEMATICS
41. (a)
faar 8 ¢ A F A =30 km/h
qug =2 e
oo gl == < wm
=30x2
=60 km
3@, B el =35 km/h {- fan @ )
g 60
BN -+ guE 2
o 35 ol ;
- g
7
12
3 aqﬁr&rangm:A;B:2;7
42. (¢)
TYAENR,
864:1200{100_10}(100_'(}
100 100
(100-k)
— 864 =12x90
100
= 8640 =12 x 9 (100 — K)
= 80=100-K
K =20%
31 K & 99 20% 2|
43. (b)
AT Al S x 2
TR,
g e - g XX20_6x
100 5

. 50 3x
ik gEl g = x4+ = 2

100 2
a1 qﬁaﬁﬁ@raﬁmagqm=%x:%x
=12x:15x
=4:5
44. (d)
FEel F TR FHETR | A S T
=% (10000 + 500 + 2000)
=%12500
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fasha qea =% 15000

- oy, 1500012500 o
12500

2500

T 125

=20%

3 20% 1 A9 B

45. (b)

TH el = 1000 cm’
nrh = e T ad ) AE

TRAMER,
%xr2 x10=154x1000

= 448000
- SEfEER HI Fo Y Al & 75% A e
o iEER % w § w2 Ay diel A ga wen

448000 x NER
100

= 336000
49. (b)
AT g€t & CP =3x
- UG H CP =3 (1170 — x)
1 )
xx£+(1170—x)£:265
100 100

4x + (1170 —x)5 = 5300

> =49 x 100 4x +5850 — 5x = 5300
r=7x10 X = 5850 — 5300
r=70cm x =550
c2r=" =270 ;TS F HT Ied 3550 2
=140 cm 50. (d)
46. (@) AT A & A = x e
70,75, 80 I LCM = oI & AT = 4 foRe/EeT
2170 75 80 TR,
2135 75 40 34 40 125
il - w2
2135 75 20 x—4 x+4 100
2135 75 10 34 50
3135 75 5 Xx—4 x+4
5035 25 5 34(x+4)=50(x—-4)
T 5 34x + 136 = 50x —200
2 336 = 16x
717 1 1 =21
1 1 1 51.(a)
3T WS G =ATH T =2 x 2 x 2 X 2 x 3 x 5 x 5x7 7
=8400 cm WH%HHT:4><E
47. (d)
TuE # 20 S B ST 9N = 54 kg A A
- FA 9R =54 x 20 = 1080 kg s
"+ 52 kg S 9K 961 12 BE TR § WA 84 2 T AR = 4
212 BT R FA R =52 x 12 =624 kg
: 56 kg 319 YR a1 7 BF 99 ¥ a9 | > e
k3l g e 3T Y A= 5x
S 7 BHE H P R =56 x 7=392 kg - “
3 U8 | 99 BHE H SEd 9 (kg §) >Rl
_ - .13
_ 1080+624 392:1312:52'481(% o AR = 5%
20+12-7 25 ‘
48'(“)% 4x%+5x%
fean & 7ol 3T = =
L 13
FA ARl & = 560000 4><—+5><§
-+ 20% diE 37 Hifta L fear T 56455 111
- 3 AT = 560000x 40+65 105
100 =37:35
Practice Set-1 13 YCT



12
53.(a)

fear &

T H AT = 672 cm’
nrth =672

%.anh =672 { - LHS.® 2 ¥ T 9 9 FH W

%x96=672

{ - ST & 9% g &, = 2nrh)
rx 48 =672

14

3 I A = 2r =2x14
=28 cm

54. (a)

AT SAfhal o § 1 = m

qHT =t

TYAER,
mxt=(m+4)(t-2) (1)
mxt=(m-6)(t+4) __ (2)
. ()T (2) |,
(m+4)(t-2)=(m-6)(t+4)
mt—2m-+4t—-8=mt+4m— 6t —24

10t=6m—16
5t=3m-8 3)
T (1) ¥,
mt=mt—2m + 4t — 8§
2m=4t—-8
m=2t—4 )

. 3)d (4) 9,
5(m+4j:3m—8
2
Sm+20=6m- 16
55. (¢)
A TS U A 1 e 1 ged A Tx 3 Ty §
TEAER,
8x + 14 y=12x + Sy
4x =9y

56. (d)

3x
12
2x
1-x
ST I PR S
o 12
2-2x+2x

1-x

3of 52+

=121
1+ 2

2+

3 10

T-6x 2
= 3x=5(7-6x)
= 3x=35-30x
= 33x=35
35
33
57. (d)
AHT Y & 3™ =100 a
o X 3@ 3™ = (100a — 20a) = 80a
T Z 3 3 X 3R Y & G 31 T 35% 59 &

X =

Z & g = 180a—(180ax3—5]
100

=180a—63a
=117a
i ’
117a—80a
= —X
80a

100
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=378 100
80a
= 46.25
A ZH I, X F A 46.25% 31 7|
58. (a)
feam &
P = 28000, R=15%

T=249 3R 4 9E = [2%}61&
Ishgfs =S (CI) = ?
Ishgfs e (A) = P[l+£j [1+EJ

100 100

23x23 21

=8000x X —
20x20 20

=%11109

;. Tshglg &S = A — P
=11109 — 8000
=33109

59. (d)

ar gHl B x e 2
TEAER,

3213 :4500(100_15}[100_"]
100 100

:>3213:45><85><(100_XJ
100

= 321300 =3825x(100—x)

210 [ r j
_ =1+ —
126 100

o) (2.

. (3) 9 (Hﬁj N AE T (1) § W |,

12600 = px[ 220)
126

3.

5

P =12600x 3
5
P =34536
PART-D
HINDI
61. (c)

faw T At § 49 SR IEA 9 # I §) 36 wWH W
w AN 33U &

3 Yg AT BN - I SR Y T I 2

62. (d)

fXT T g F TgEE FE 9§ I T 36 WHE W
ST YIs 39 T

3T YUt ST FAT - BT & St geward T ga |

63. (b)

I feremmr
Bl - fvea
EEN - e
fasme - el
CE] - T
64. (a)

faw 7w e § WEifed @ue ‘3w @ R e &

:>(100—x)=321300 yfoeenfuq & & fore waffes sugea fasmen grm - a1
3825 BRI TR
= 100-x =84 3T: YUl Ylereeriia amer gRM:- = §W § e
- x=16% EEIERIE R RS E Tl Gl
60. (d) 65. (d)
FRATTEN, ATRATIT Teh ITsg
ol Y R ST oY & - =
12600-P(1+100J .......... ) 5 o o ] i
r Y ST AT 8l - T
21000 = P(l+ﬁ) ........... ) 66. (b)
. (2) F gl (1) § 9 FE ;'am“'s'mmém% ] T ez
M(l_j e e
12600 100 S s amafs A - gda
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67. (b)

faw U fawew § yg ad A v= @ - fdg e
freped 3793 €|

68. (b)

‘IR UG AT qgre 1 31 € - Frrer e

AT T - Ryd & fou 30 At arcil sl g ardl

F TZT P HT AR IS T AT T
69. (d)

IS T

Gt - I
TR - TEER

e - ferF
Crpite] - e

70. (a)

faw U e # W -t & g § g €

A YR AT BT - I M WA W
Gl

71. (¢)

T FeAT GETeT i 1Y & - T S

TS YA - T F A GeAd & Feich A ST A1
w T |

72. (a)

ATRATIT Tk 9TIsg
st #E sym A e - HI™
o g g @ e - Afgetrar
S eq T § R (37) & - FHEYATI
St for @ & I A - EEe)
73.(¢)

g W H wHEErl @ o udtgar wes 3- e,
o, 3, Ha, Hed, AR |

vad - ReR, 1f%, were, r=d, T, e I
SEe - U, FereR, afE, e, aier, sTEg o)
SAGRIIT - TR, AW, TWH, 9, 3, T, FaRa|
74. (c)

fow T foebey # g adA Ao v € - swdlifol e
fohed oTes €1

75. (b)

TEA F THAI TR - FEE, HH, AN, qMNGE, AT,
HER 3T |

76. (a)

few g M % Re w@E (1) & fou wEitE e
w1 ey g

YUt ST BT - R & AR 79 U # oeved M4y
% &9 # G =ed 2

77. (d)

fow T N % fF W@ (2) % fou el e
VI B - 3Aest

YU AT ERM - I TH TET MY AT &
FET TS|

78. (a)

few T N % RE w@E (3) & fau wEis svgE
R G T

3Tt TRy BT - I T I & Heh

79. (d)

few o Tt % Rem w@H (4) % A weifes Sug
IR BT - TS

YUl AT BN - TS, Wi, OE 3R WEIEmg
AT H |

80. (2)

few U TN % R w@E (5) & fau wEis svgE
FAQUl A E - Wws, M, YAh iR R
e # & fare] S FHa aeAd IR @ webdt 8|

PART -D
ENGLISH
61. (d)
Rapid - G
Synonym - Quick (FRd)
37 fospedt & o7 -

Straight - Ty
Successive - sHHH
Lumbering - @S He-T
62. (a)
Contextual - JTEfTH
Antonym - Unrelated (375sif%r)
31 fehedt & o7 -
Circumstantial - 31T F37
Provisional - 3ifad, 7Eemf
Dependent - 3T
63. (b)
SR a9 & Rad WH # fawew (b) significant
(FETUT) T YA B i AR AT F A F TR
3y a1 2 |
Correct Sentence -
Customs and traditions play a significant role in all the
societies.
64. (b)
S group of words 'Land beside a sea’ & forg 3fea
one word T (b) Coast (A7) &I
31 fasedt & ot -
Peninsula - &89
Island - 519
Archipelago - 519 98
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65. (c)

ST idiom 'To lag behind' (fY&g 1) &I 3 =ame
fa%eT (c) To fail to maintain the pace or progress' &l
21 o1 fshow 3ugEd T R
66. (a)

I Idiom 'Lap up' (EF\EEFI'I"E%F IRUT HAT) H 3
AT fohed (a) Accept eagerly el 21 31 fopeq
g T 2
67. (c)

S a9 § 'on' F H T 'to' Preposition 1 ST
BT i 'send’ % WY 'to’ Preposition bl T I 21
Correct Sentence -

Jack asked his friends to send the parcel to his new
address.
68. (a)

S group of words ' Well-known for bad qualities or
deeds' & fo@ 3T one word fa&eq (a) Notorious
(F) B 3T fohedt & o7 -

Burglar - H¥HR

Thief - IR

Idiot - W‘E
69. (b)

SR FaT & @ifhd 9 F is arrived’ & WH W
'arrives' &1 I B FHifh 39 FohIK % conditional
sentences # A Tget clause future H 2 @ 4 clause
present indefinite § S el 21

Correct Sentence -

We will be in touch with them when the time arrives.
70. (d)

SWRad A & Rad e § fose (d) restoration
(VOHT) F FANT BN (R AT A b WG o IFIER
SY a1 & B

Correct Sentence -

The paintings on the church altar seem to be in need of
restoration.
71. (c)

Fare - 31 STH1/ Sfe T

Synonym - Progress (37 &<T)

37 fomedi & o1 -

Bright - 3sSTdel

Beautiful - §<X

Fresh - Tt
72. (¢)

SR group of words 'Things which are of the same
kind and of the same dimension' & foTe 3T one word
fa®ed (c) Homogeneous (HSTIT) B

o1 foepedt & o1 -

Pleasant - ﬂ%‘l‘ﬁ

Balanced - Hdferd
Harmonious - STHs&quf

73. (d)
No improvement required.
74. (d)
I I & R wH § f5%ew (d) Pursue (STEROT
FAAT) H TN I FfF AT AHT F 9 kAR
Sy o & B
Correct Sentence -
My brother wants to pursue a career in medicine.
75. (a)
Rash - STegdTST
Antonym - Careful - S99
311 famedt o o7 -
Unruly - 3T=6A
Wayward - =51
Defiant - 78X
76. (a)
EERED] Passage F faa w@e (1) ¥ f&e@ (a) means
(W) S ST BN Fifh I8 W o SFTER SugE 37
T 2
Correct Sentence -
Storybooks were the only means of entertainment for
77. (b)
EERED] Passage F o ©m (2) ® fa®ed (b) Spent
(@9 FE/FAAT) & T ITEF B i T8 9
TR S 1 I €
Correct Sentence -
A decade or two ago, kids spent their time reading
78. (d)
EERED] Passage % Rad @M (3) # fa®ed (d) Plural
Possessive adjective 'their' T SEINT B |
311 frehed ST 4 £

Correct Sentence -

Role playing their favourite characters from the stories.
79. (c)

SR Passage & o WM (4) ¥ fa%ed (c) However-
(Safs, @fed, qaifd) & T STgF B 3 fawed
I T 2

Correct sentence -

However, times have changed
80. (¢)

EERED] passage % figq @M (5) ¥ f®eT (c) most
(3TfErpat) 1 ST, 3UGH B

3 feshod SU T R

Correct Sentence -

Kids spend most of their time playing
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PRACTICE SET-02

PART -A

GENERAL INTELLIGENCE AND
REASONING

TH HP H FHA 60 BT T D B’ w I,

rgar A B e 9 SR | 41 & €)1 SuT @

3R & BT 'B' & Ik T §7

(a) 2041 (b) 218t

(c) 224 (d) 23at

few o w@eeE & W qdur gfafdw @ o=

aﬁ,;aa&mﬁmmwmmr@

T R

P
BD9SKC
Q
(a) 2 M50048 by 2A2eda
() JK2aaQa @ oxnse6ad
% 3@ ¥ o eI e & T
ATt | e T W1 shitrer 0 | W@ UT goft
ot & St |

K_T_STKM_RST MTRS_KM_RST

() K, T, R, M,T, R  (b) M,R, T,K, T, T

() M, T,R,K,T,R  (d) KM,R T, T, T

IH Sl T =T I T U 7T USeR (sheet)
T STehT TETAT UT HIgeRT SATIT AT TehelT Bl

a0
Alel

‘6 W

@ o [2 ®) |

A @
©| % | S @ | o X
T& Ty @we @ #, 'FAMILY' @i
'QXBJSD' % ®U H for@r Srar § | 3¢t W o
'FILMY' @i {8 &0 & ferar s ?

(a) QBISD (b) QXBSD

(c) QDSBX (d) QISBD

feu o foeredi & W 39 AGN-WUE W w9
T o & T sjmen § wou g (2) %
T yfereerfie & ehdt ¥

AU, BO, CI, DE, ?

(a) GE (b) EA

(c) FI (d) HU

10.

11.

Teh UfeRT , AE o8 317 & 299 3R a¥ 3
{339 T W | Ul W e ferameff ¥ 2
(a) 61 (b) 55

(c) 60 (d) 65

fertlt e wT §, ROM & ox@ 3T HEIGHT
W €+POoo* o B | foraT wrar g1 SHt wmar o
TIGER &t fra et | ferear e ?

(a) *pO+@ (b) x+pO*

(c) *pO~a (d) ©O=@*p

3T 99 AW T TG &L, W TAfeiaa
o ol oY Gerd 3= ailieh § e |
Targzmeff, Raerst, forehe Raedt

& QD

e & T sTeRfadl § wETS ok UH THS hl
e 3R A T HATS I HIeA o Tk &l
THU TITAT AT & | AT @l Tl I T a8
S feamg o ?

Euil

fow @ w3 faswel @ o A wE 1 TE
AT g R wael § & T8 T8 et 6 ¥,
O § O% W ®Y @ A qe ¥ e yefia
gret 2, 3 o forotar of fom fow 7 forsref &
H-U/A frepd woAl T dlfther ®T W
SATETUT HIAT &/ £ |

R

Teft Trgeh EEw § |

|t Erae feraed 1

Tereenst:

1. Tsft gk faanfea € 1

11 |+t Eraes ferafea & 1

Practice Set-2

18

YCT



(a) forespe 1 3R 11 S S1eeoT 4 € | 18. U WIH &He 9T H, 'KNOW' &l '1614154' &
(b) Faet frsF [ SFETT L 21 ®Y | Heog fehaT ST | 3@ 9eT | 'HIRE'
(c) @ faswdd 13 dF 11 STERoT e 21 FY FHeag feRam ST ?
(d) Faa fhe 11 STTER0T e 21 (a) 18191822 (b) 199922
12. Tfurets forg@l o 3@ A& @S @t O & Sl (c) 1991822 (d) 89185 .
'@ Wkl o T W TR B I weher & |19, Tw ¢ fowwedt § @ w@ W@ @ o &, S
3 fem o wefieRtur st Hferd Y HehaT B Frefeafad sj@en § gyv=erees g (7) % =
B@4@5@57 T 3T Hehel ¥ |
(a) + x,= () +— = 9,28, 65, 126, ?, 344
(©) x, +,= (d) x,— = (a) 225 (b) 218
13. 72 foenfofat = U wem W Agal @t wE (c) 191 (d) 217
TEfRAT Tt HWEA it A € | TSR st wEAr |20, it ¥ W ¥ o, “ﬁ'&m'g@'&tﬁ
AR | TRl Wit & 1 e @ W OdT ¥ S
(a) 24 (b) 48 Heifera & ?
(c) 36 (d) 18 (a) (b) =
14. feu o foemeut o ﬁwmﬁraﬂwaﬁm (©) T (d) @
it frifera Sioft W womaTeeR foIg (2) & @
T T Hehell § | PART-B
T T =TT GENERAL KNOWLEDGE AND
S === GENERAL AWARENESS
21. O dfgae & frafafaa § @ e ogese
AT br— T 6 af ¥ ®H MY & ool & fOQ YRS
@ | b— w | —0 STeATEET SE-1E 3R Rem @ Susier §7?
: * (a) =5 35 (b) T 44
4+— — 22. ‘30ferer ZfaE (Oliver Twist)' SU=TTE & T&H
© | —1 @ | —0 freferfes § & @ & ?
: e f&T (Charles Dickens)
15. faw TR g e — (a) g (Charles Dickens
I fr Soft e g (7)) & W W (b) STH TSt (Thomas Hardy)
Bqulﬁl (c) Z.0H. BT (EM Forster)
21,22,18,27, 11, 36, 2 (d) ﬂ'lﬁ'f@?ﬂ?‘[(cmrlotte Bronte)
(a) 72 (b) () 23.  URREm @ vHEteE v gl
(c) 27 (a) P (b) Ca
16. wﬁwmmaﬁwﬁ?ﬁv&mﬁw (c) K (d) Li
YR Heftd § fre ger gEft W ugelt|24.  UTREAT ST ShIF-WT ITET Y ¥ g g Heael
T & Heifed | o Formfor of forg o arrofi € 2
234:171::2535: 2 (a) TEAHEE (b) geam
(c) 2393 (d) 3787 25. Afger Wl ‘SEUSM’ SERm % 3TEN,
17. wﬁmmmﬁmﬁﬁﬂém Waﬁﬁ%mﬁqﬁﬁm‘qaw
FfafifEa & waen= TR T §7
(a) T OEEEER]
(c) TR (d) T
26. 3O qUA-HA & I YUK HI Wet &
?
@ B ®) ot feparft =gmam oot smavae et &7
- (a) 50-125cm (b) 20 -40 cm
= s (c) 130-155cm (d) 30-45cm
/ 27. fom gd & B3 & fAfaiad § 9 & gu a7
(©) ; (d) / (a) T& 3T (b) TE B
\ (c) & THaH (d) T& 3
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28, oMfehemeTuda T O e ¥ 40. Tr=fafEa # & ®E-W 9T UNESCO
(a) foamaer e (b) SRV ST (@) W Ty Fervraa geht F witatera #7
(c) Gfrent (d) 3Es ST

29. IAET AN (factor cost) UT WA eht SHEUT (@ (Z) ?;C:a
(GDP) & TUFT &d |HE, Shgld Wiferet (c) L (d)

Fiee foraa fafisr seEt & wasle @t PART-C
TR LT &7 ELEMENTARY MATHEMATICS
(a) 4 (b) 6 41. Tk a5 & IB40 ¥ d9H W, Teh AURN &
(©) 8 (d) 19 20% T EIT Bt §1 15% 9 U A % T
30. émﬁa%aﬁﬂﬁma\»qwﬁ%ﬁmm% ;
___ U AR S i 3T geamnes O | ﬁ?ﬁ'*“ﬁmﬁﬁf:r%@
b (a) T517.50 ) T455.75

8 %ﬁ Ed; ﬁ (c) T488.75 (d) T475.50

31 Freffea § ¥ 2 T v defiee Rgerd 42 T Tem sl w ww fivew il @ |
T 82 2 98 U YT =rehglyg s T1128.6 §; Wal(eh
(a) W AT OEEIGREEEI SIS Sl TUET aTfieh Tghgfeg MU UT ot
(c) i fast (d) d3.fay It &, iR WU Uit W EwE g€ W HHE

32. faoeft, 4, W ST whierhTl % WR wHE rafer § e WErRer ST T1080 1 WA T
W@WTWWW_ W TAE W W 3 a9 W weRghg s o

R E b HIEIUT ST T AT AT A
8 WE (d; ST (a) T170.174 (b) 150.174
Sivefirer Tt (c) T165.174 (d) 160.174

33 :nwm@‘?wazﬁ_{ ﬁwgﬁ%wwm 43, ﬂﬁ0.45:x::3:8%,?ﬁ'x W'H'I?E?ﬁ‘a‘
(a) T (b) = ferTren sRTe ERTT?

(c) =re (d) qu (a) 1.4 (b) 2.2

34, gl PR WEEE 1992 % THST 21 §, 21 @ (c) 12 (@ 13
T aref &2 44, Uk TR Teh &I Al 60 km/h et THTHTT
(a) 21 71 (b) 21 e S e wremar & oi 330 km H g w e
() 21 & = (d) 21 T TaeT W 30 e &t T | ugear € wma W

35 WWA @ HfEU W gW g @t e % fo, e § feedt % gfe o
Pt § & frg o sro=Tan T ? =fen?

(a) 1949 (b) 1947 (a) 12% (b) 15%
(¢) 1950 . (d) 1952 (c) 10% (d) 20%

36. ol _ F Roud RA™ @ U U6 (45, us SAtw ¥ T Wi 250,000 § T 3 59
= E W T T W 20% 3TRrek Yoo siferd ferar aiv
Eaiw E‘;;;%‘; 36 15% S Y€ W a9 &1 Flawra A av g
C 1@,36 a;i'.

37. H HOs I HUN A1 Irferev fenet m;ﬁ )
frge anfior &= § e € aren wEem (@) 1% (b) 2.5% @9
SR ot ? (c) 4% @i (d) 2% @9
(@) T (b) A 46. AT Fifver sl 1 S wwr 9 fa W g ww
(c) FEUME (d) B 8

38. AN fersreReT % AReft S TR ¥ 3T B I FE B 80% W A 16
RN g ffifa sTfeaTedt et @t T el f) fe=t @ g & whar ¥ g4 3 et 5 fom
(2) o (b) ¥ et farem I e A C a6 fo H
(c) AR (d) s/ A 2 )

39. fFrefafas § & wew sifiw WAy FeEE feram A 3w C foreee et e w0 fea o &
AT el hIA-TT & ? T T A7
(a) Hfewrm (b) FAfereR (a) 6 fa (b) 9 fa
(c) AT (d) TR () 8 f& d) 10 f&=
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1 1 2

5s.

I AT 50 m &, 25 m ST 3 4 m TEq

4
47 Jof T-Jof +d=T+3of 7+ 27T W feherT #| AT 3% eThET (m® #) 7 F
rm? (a) 2500 (b) 500
Lo L0024 (c) 4000 (d) 5000 ‘
(a) — by — 56. Wk SIFNIIST UT 9% ATfHeh oIS X | 6 9¥ W
1110254 1120254 T WUN S 35,427 WA Than T@m a8
© Tos D Tos (a) ?54??;?(:& ¥ (b) 10,002
48. A& 3T, B H I | 25% 3Tfereh %l B &Y (c) T10,050 (d) 54,010
AT, A i 3T & Ferer wferore et &2 57. Uk oAfth 3 T18,000 § Tk Irener witan <
(a) 15% (b) 11% Ul ok 9g, A R WA T 22,500 @t
(c) 18% (d) 20% feru 2w 3@ %12,300 W =1 feam i+ wfewra
49. 120 m 3fX 180 m wieft & YewmiEaAt, 34 km/h T i
3 32 km/h Ft TH A oA F Teh A (a) 46% (b) 42%
3T 3 T E1 G YewmiEAt R Uk O (c) 44% (d) 40%
IR A | 70 7@ que st e ST 58. 2x7+140f4-5+4x(9-11)+2-2x6+8of
(a) 15.5 s (b) 17 The 3% Wi e g
(©) 16 T () 180/11 Fbe @ 3+ (b) 4>
50. TH o @& URET 64 cm ¥ TH A w0 ? ‘1‘
ASTheT, ST o1 o &Shet | 16 cm’ &7 T TS (c) 4Z (d) 25
T W FATE 20 cm &, A TIA HT ARATT 59. AEXP=a'xb xc’, Q=a*x b x, R=a"x
ferera grm? C® &, a@ P, Q, R &1 WgwiW |WUadeh (HCF)
(a) 18 cm (b) 64 cm T il
(c) 12cm (d) 15cm 1519, 23 3,5
51, fe o e % T et 71,320 §1 A A % zxxcb e Egg RRRTIE
aﬁuw&w%,mﬁaaﬁmézgﬁ;w ﬁnﬁa‘aﬁm%%aﬁwwi%aﬁwm
S €, 7Y e ok AT fehe=t emwin 87 A T W IAH AT oA @M T 48 B
(a) 3328 (b) %980 Tfe IifeRd Toa, ha Ted | 25% 31l €, @
(c) 3320 (d) 3792 T T T oA Teha=T 2rm?
52. 13540 Skt THT *1 wAA Sﬁ'{'w & ofter 3@ (a) 2950 (b) T960
yer fauifsm ferar mem & f 8% =i (c) %920 (d) T860
Aehgfeg ST i ST WX 5 I8 o YYeITd A h PART-D
"R W e fages, ¥ W W 7 oW & HINDI
Tend GAaT & e o g fages % SR S _
&, TSk ST ekt AT ATk Tshgfag SR ol gi::qﬁqﬁ;;m@W%
T Y AT {1 A T T 7 Hw @ R (b) P
(a) 7,390 (b) 7,290 (2) 33% @ T
(c) T7,280 ’ (d) 8,240 62 P d A Fe-d i watarh v fa
53. 9% oSt ¥ ot e A s, faa 265, 0 - S ™
580 31X 825 <R fauTiTad T W Uik AW &
F T 9 Fe §) E;; gjﬂim
a) 55 b) 45
EC; 35 Ed; 25 (c) 3M¥F - TSI TART
54, AT EETE 2, B W T F O W B (& T - T : :
: 3’ 7 63. ToU T ST kT SE WRT HE Wt e g A
afE A FY TIT 32,460 &, AT A FY FI0T, B % o0 Tl afg &g Ffe T §, A wE e T E g
& feraw wferora & SR & (S Iemea T A a@enr & (1)@ @ 2 )/
ek quTtfehd ) ? @R 3 )/ qfe TH B 4)
(a) 107.14% (b) 93.67% (a) 1 (b) 2
(c) 93.33% (d) 107.27% (c) 4 (d 3
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64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

T=h W= &t g & fow wew SugRR veg
I H

L1 i S @ & fm & oft @S e
T 7 e

(a) 309 (b) I

(c) 918 (d) =4

Y[ AT R TEETTT—

T /e it/ frarsht & qrer/amet s §
(a) R S & (b) @R H

(c) & (d) foarst & @y
o fau T ot § fim-Tae @t gfd & fag
HoW IUYTH IT6T T T il

TN ET oo ¥ ot wifta 21

(a) HShgTe (b) FTEAEE

(c) RIS (d) TTEES

few e ameRr @ faem TH—

3T

(a) T (b) 3faa

(c) eSO (d) #ra
Rl H W@ W T Y 3TET B Wt ¥
Y163 WHE o € W 3o Teg fatam
(a) TRTEmSHS (b) &l

(c) & W (d) Frrft

39 oo &1 =E= &Y S T e s W
aref Sh e B

wesraT fe@mT

(a) BRATE fa@mT

(b) W FERAT

(c) 2T FIH A

(d) 3T=I-3T< a0 FHEHL TEHM

TE Tt FTe 9163 T TT Hi

(a) 3tfEaTcass OEELZIRE
OEERIRE (d) et

& T arem #§ Ywifed stor @ wirenfud
T o T Ted SUITh aehed 1 o9 i
&1 oftex it 1w | ferekar 1

(a) S (b) FHa

(c) A9 (d) dte

TE Tt FTe 9163 T TA Hi

(a) forgeh (b) gt

(c) fargfi (d) forget

30 fared &1 wE= ® W 0 qEeR @ wE
219 =R LT B

forw 3vrerT

(a) TS F TOR HAT

(b) BT Tgam

OELRES]

(d) el o &

74. T T =t gfd & foq @o@ Sugeh v @

=TT
TAN B1eres U9 ..o 21
(a) 4 (b) gEam
(c) o (d) e
75. T & Syt & faw wes vrsg v
ST RW @l R AT &
(a) THaeit (b) 3Teqerdt
(c) 3=t (d) sfere=t
TR

few @ wTerivr ¥ ¥ F vee ger fow o ¥ wetta
Tl § Ueh G o [T weW Sugwh faeRed @
=TT W

(2) e % HRU T T (3) v T(4)
Bl AT &1 HIg oh 0T gART ©aT T Ao oAt (5)
....... ¢ AT &1
76. TNV o Rk & (1) o fow waifaes Sugeh
ITeg -
(a) =ed (b) wftfafe
(c) hEAT (d) <=m
77. TNV o Rk &0 (2) & faQ waitasw Sugeh
ITeg EATT—
(a) foavm ORIEL
(c) Bt (d) ¥
78. TNV o Rk & (3 ) o fow waifaes Sugeh
ITeg -
(a) TEH (b) TS
(©) T+ (d) ST
79. TNV o Rk & (4 ) & U waitaes Sugeh

(b) fgor
(d) foma
80. TEITIT & ek T (5 ) o foTT waifias Sugh

IIsg BT—

(a) TR (b) &1

ORI (d) ST
PART-D
ENGLISH

61. Select the INCORRECTLY spelt word.
(a) Terabyte (b) Terestrial
(c) Terminal (d) Termite

62. Parts of the given sentence have been given as
options. One of them contains a grammatical
error. Select the option that has the error.
Children are fond of eating food from Mala
aunties small shop at the corner of the street.
(a) Food from
(b) Mala aunties small shop
(c) are fond of
(d) at the corner
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63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

Select the most appropriate option that can
substitute the underlined segment in the given
sentence. If there is no need to substitute it,
select ‘No substitution required’.

You are ill if you eat all that food.

(a) No substitution required

(b) have been

(c) were

(d) will be

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

Nobody were / allowed into / the containment
zones / during the pandemic.

(a) the containment zones

(b) Nobody were

(¢) during the pandemic

(d) allowed into

Select the most appropriate synonym of the

given word.

Vital

(a) Ambitious (b) Hungry
(c) Crucial (d) Bold

Select the most appropriate meaning of the

given idiom.

At the eleventh hour

(a) At 11:00 am

(b) One hour before noon

(c) At the very last minute

(d) Too late in the night

Select the most appropriate option to fill in the

blank.

The type of turban worn by Indians

from one region to another.

(a) follows (b) varies

(c) belongs (d) originates

Select the option that can be used as a one-

word substitute for the given group of words.

The sound a bear makes

(a) Purr (b) Growl

(c) Bray (d) Caw

Select the INCORRECTLY spelt word.

(a) Pickel (b) Picture

(c) Piano (d) Picnic

Select the most appropriate option to fill in the

blank.

Though he earned meagre wages, he was
with his life.

(a) enthusiastic (b) contented

(c) miserable (d) irritated

Select the option that can be used as a one-

word substitute for the given group of words.

A person who loves, supports and defends his

country

(a) Patriot (b) Lover

(c) Dreamer (d) Fellow man

Parts of the given sentence have been given as

options. One of them contains a grammatical

error. Select the option that has the error.

73.

74.

75.

A grand celebration in honour of a first woman
gold medallist was organised by the family
members.
(a) by the family members
(b) a first woman gold medallist
(c) grand celebration
(d) in honour of
Select the most appropriate meaning of the
given idiom.
To put something on hold
(a) To cancel something
(b) To transfer something
(c) To procure something
(d) To postpone something
Select the most appropriate option to fill in the
blank.

, he has only himself to blame.
(a) Ultimately (b) Happily
(c) Accurately (d) Immediately
Select the most appropriate option that can
substitute the underlined word in the given
sentence.
She was the only companion Becky could
confine in.
(a) confide
(c) console

(b) confer
(d) content

Comprehension:

In the following passage, some words have been
deleted. Read the passage carefully and select the
most appropriate option to fill in each blank.

Life processes are similar in all animals with
) . So physiologists can find out a lot about
the human body by studying animals (2) frogs,
rats and rabbits. Sometimes, research involves the
death of these animals. But, physiologists take great

care to not (3)

the animals. The animals are

“) put to sleep during the experiments. It is
only by physiological research (5) medicine
has been able to advance
76. Select the most appropriate option to fill in
blank number 1.
(a) the backbones (b) backbones
(c) the backbone (d) backbone
77.  Select the most appropriate option to fill in

78.

79.

80.

blank number 2.
(a) as like (b) as such

(c) such as (d) as like as

Select the most appropriate option to fill in
blank number 3.

(a) hurt (b) displease

(c) destroy (d) damage

Select the most appropriate option to fill in
blank number 4.

(a) incidentally (b) strangely

(c) usually (d) oddly

Select the most appropriate option to fill in
blank number 5.
(a) that

(c) then

(b) than
(d) so
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SOLUTION : PRACTICE SET-02

ANSWER KEY

PART -A

GENERAL INTELLIGENCE AND REASONING

1. (a) 3. (b) 5.(d) 7. (a)
2. (b) 4. (c) 6.(b) 8. ()

GENERAL KNOWLEDGE AND GENERAL AWARENESS

9. (d) 11.(a)  13.(b)
10.(d)  12.(c)  14.(b)
PART-B

15. (b)
16. (a)

21.(c)  23.(c) 25.d)  27.(b)
22.(a)  24.(c) 26.(a)  28.(d)

29. (¢) 31.(¢) 33.(¢)
30. (d) 32. (b) 34.(c)
PART-C

ELEMENTARY MATHEMATICS

41.(c)  43.(c) 45.(d)  47.(c)
42.(b)  44.(c)  46.(c)  48.(d)

61.(b)  63.(d) 65.(a)  67.(b)
62.(a) 64.(a)  66.(d)  68.(b)

61.(b)  63.(d)  65.(c)  67.(b)
62.(b)  64.(b)  66.(c)  68.(b)

PART -A

GENERAL INTELLIGENCE AND REASONING

1. (a)
IR & AL G BF 'B' H ®

= BHEl F G - AIA FH H AT H TR F T +
1

49.(d)  51.(d)  53.(c)
50.(b)  52.(b)  54.(a)
PART-D
HINDI
69.(d)  7l.(c)  73.(d)
70.(d)  72.(d) 74 (a)
PART-D
ENGLISH

69.(a) 7l.(a  73.(d)

70.(b)  72.(b) 74 (a)
SOLUTION

i? i wele O

35.(¢)
36. (d)

55. (d)
56. (c)

75.(a)
76. (d)

75. (a)
76. (b)

17. (b)
18.(c)

37.(d)
38. ()

57.(d)
58. (c)

77.(d)
78. (a)

77.(¢)
78. (a)

19. (d)
20. (c)

39. (a)
40. (c)

59. (b)
60. (b)

79. (a)
80. (d)

79. (c)
80. (a)
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6.(b)

A +1 B +1 C +1 D +1 E

§] 0 I —>E A

Note:— & T 9@ & Wgell Ufts & 1 Sier o1 @ &,
wﬁé@ﬁﬁﬁméwﬁﬁmwﬁm
T 2|
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7. (a)
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8. (c)
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10. (d)
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19. (d)
& T ger S@en e 8-
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20. (c)
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PART-B
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31.(c)

e Agard, diwia feaer, A, Ry, qoen e
T SaTe eet fE w WereR Wt dsfien faenet
2, vafs @fen fosl, mew sufy qon foouex 99 emfz
e 2 Raardt 21

32. (b)

TR IR - TS T ToF e afErsHT 21
39 RIS @ AT 31 e, 2015 1 H T IHH
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36. (d)
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